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     ®ÖÖ´ÖÖÓÛú   Roll No. 

 

No. of Questions – 24   UP-09- ÝÖ×ÞÖŸÖ 
No. of Printed Pages – 8 

¯ÖÏÖ¸ü×´³ÖÛú ×¿ÖõÖÖ ¯ÖæÞÖÔŸÖÖ ¯ÖÏ´ÖÖÞÖ-¯Ö¡Ö ¯Ö¸üßõÖÖ – 2017 
PRARAMBHIK SHIKSHA PURNATA PRAMAN-PATRA PARIKSHA – 2017 

ÛúõÖÖ – 8  
ÝÖ×ÞÖŸÖ 

MATHEMATICS 
ÃÖ ´Ö µÖ ü : 2.30 ‘Ö Þ™ ê ü ]  [ ¯Ö æ ÞÖ ÖÕ Ûú : 80 

 
 ¯Ö¸üßõÖÖÙ£ÖµÖÖë Ûêú ×»Ö‹ ÃÖÖ´ÖÖ®µÖ ×®Ö¤ìü¿Ö : 

 GENERAL INSTRUCTIONS TO THE EXAMINEES : 

 (1) ¯ Ö¸üßõÖÖ£ Öá ÃÖ¾ ÖÔ ¯ ÖÏ£ Ö´ Ö † ¯ Ö®Öê  ¯ ÖÏ ¿®Ö-¯ Ö¡Ö ¯ Ö¸ü ® ÖÖ´ ÖÖÓ Ûú † ×®Ö¾ ÖÖµÖÔ Ÿ Ö: ×»ÖÜÖë  … 

  Candidates must first write their Roll Nos. on the question paper compulsorily. 

 (2) ÃÖ³Öß ¯ ÖÏ ¿®Ö Æ ü» Ö Ûú¸ü®Öê  † ×®Ö¾ ÖÖµÖÔ  Æ ï ü …  

  All the questions are compulsory. 

 (3) ¯ ÖÏ Ÿ µÖê Ûú ¯ ÖÏ ¿®Ö ÛúÖ ˆ ¢ Ö¸ü ¤ üß ÝÖ‡ Ô  ˆ ¢ Ö¸ü-¯ Öã ×ÃŸ ÖÛúÖ ´ Öë  Æ üß ×» ÖÜÖë  …  

  Write the answer to each question in the given answer-book only. 

 (4) ×•Ö®Ö ¯ ÖÏ ¿®ÖÖë  ´ Öë  † Ö®Ÿ Ö×¸üÛú ÜÖÞ›ü  Æ ï ü, ˆ ®Ö ÃÖ³Öß Ûê ú  ˆ ¢ Ö¸ü ‹Ûú  ÃÖÖ £ Ö Æ üß ×» ÖÜÖë  …  

  Answers of the questions with internal division should be written at one place. 

 (5) ¯ ÖÏ ¿®Ö ÃÖÓ ÜµÖÖ 1 ÃÖê  4 Ÿ ÖÛú (²ÖÆ ã ü× ¾ ÖÛú» ¯ ÖßµÖ ¯ ÖÏ ¿®ÖÖë ) Ûê ú ˆ ¢ Ö¸ü Ÿ ÖÖ×»ÖÛúÖ ²Ö®ÖÖÛú¸ ü ˆ ¢ Ö¸ü-¯ Öã ×ÃŸ ÖÛúÖ ´ Öë  ×» ÖÜÖë  …  

  Draw a table in your answer-book and give answers of Question Numbers 1 to 4 

(M.C.Q’s) in it. 

 (6) ÃÖ³Öß ¯ ÖÏ ¿®ÖÖë  Ûê ú † Ó Ûú ˆ ®ÖÛê ú ÃÖÖ´ Ö®Öê  † Ó ×ÛúŸ Ö Æ ï ü …  

  Weightage of the question is written infront of the question. 

 (7) ¯ ÖÏ ¿®Ö-¯ Ö¡Ö Ûê ú ×Æ ü®¤üß † Öî ¸ü † Ó ÝÖÏ ê •Öß ºþ¯ ÖÖÓ Ÿ Ö¸ü ´ Öë  ×ÛúÃÖß ¯ ÖÏ ÛúÖ¸ü Ûúß ¡Öã ×™ü/† Ó Ÿ Ö¸ü/×¾ Ö¸üÖê ¬ÖÖ³ÖÖÃÖ Æ üÖê ®Öê  ¯ Ö¸ü ×Æ ü®¤üß ³ÖÖÂÖÖ Ûê ú ¯ ÖÏ ¿®Ö ÛúÖ ê  
Æ üß ÃÖÆ üß ´ ÖÖ®Öë  …    

  If there is any error/difference/contradiction in Hindi and English versions of the 

question paper, the question of Hindi version should be treated valid. 
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1. 7 ÛúÖ ‘Ö®Ö  Æ î ü 

 (†) 49 (²Ö) 243 

 (ÃÖ) 343 (¤ü) 21 

 The cube of 7 is 

 (a) 49 (b) 243 

 (c) 343 (d) 21 1 

 

2. ¾ µÖÓ •ÖÛú a2 + 2ab + b2 Ûê ú ÝÖã Þ Ö®ÖÜÖÓ ›ü Æ ï ü 

 (†) (a + b) (a – b) (²Ö) (a + b)2  

 (ÃÖ) (a – b)2 (¤ü) (a2 + b2)2 

 The factors of expression a2 + 2ab + b2 are  

 (a) (a + b) (a – b) (b) (a + b)2 

 (c) (a – b)2 (d) (a2 + b2)2 1 

 

3. ‘Ö®Ö ´ Öë  ×Ûú®ÖÖ¸üÖë  Ûúß  ÃÖÓ ÜµÖÖ Æ üÖê Ÿ Öß Æ î ü 

 (†) 8 (²Ö) 12 

 (ÃÖ) 6 (¤ü) 14 

 Number of edges in a cube are  

 (a) 8 (b) 12 

 (c) 6 (d) 14 1 

4. Ø²Ö¤ã ü (3, 0) ×Ã£ ÖŸ Ö Æ î ü  

 (†) x-†õÖ ¯ Ö¸ü (²Ö) ¯ ÖÏ £ Ö´ Ö “ ÖŸ Öã £ ÖÖÕ ¿Ö ´ Öë 

 (ÃÖ) y-†õÖ  ¯ Ö¸ (¤ü) ×«üŸ ÖßµÖ “ ÖŸ Öã £ ÖÖÕ ¿Ö ´ Öë   

 The point (3, 0) lies  

 (a) on x-axis (b) in first quadrant 

 (c) on y-axis (d) in second quadrant 1 

5. ´ ÖÖ®Ö –ÖÖŸ Ö Ûúß×•Ö‹ :  (i) 32 × 33    (ii) 

2
3

2

1
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 Evaluate  (i) 32 × 33    (ii) 
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6. ‹Ûú ¸üÖ•ÖÛ úßµÖ ×¾ ÖªÖ» ÖµÖ ´ Öë  ¯ ÖµÖÖÔ ¾ Ö¸üÞÖ ¯ ÖÜÖ¾ ÖÖ›Ì ê ü Ûê ú † ®Ÿ ÖÝÖÔ Ÿ Ö ¸üÖê ¯ Öê  ÝÖµÖê  ¯ ÖÖî ¬ÖÖë  ´ Öë  25% ®Öß´ Ö Ûê ú ¯ ÖÖî ¬Öê  » ÖÝÖÖµÖê  ÝÖµÖê  … µÖ×¤ü » ÖÝÖÖµÖê  
ÝÖ‹ Ûã ú» Ö ¯ ÖÖî ¬Öê  180 Æ ï ü Ÿ ÖÖê  ®Öß´ Ö Ûê ú ¯ ÖÖî ¬ÖÖë  Ûúß ÃÖÓ ÜµÖÖ ×ÛúŸ Ö®Öß Æ î ü ?  

 In a Government school 25% Neem plants were sown during environment pakwara (fort 

night). If there are 180 plants in total then how many Neem plants are there ? 2 
 

7. ÝÖã ÞÖ®Ö±ú» Ö –ÖÖŸ Ö Ûúß×•Ö‹  : 

 (3x + 5) (5x – 3) 

 Find the product : 

 (3x + 5) (5x – 3) 2 
 

8. ‹Ûú † ×«üŸ ÖßµÖ ¾ ÖÝÖÔ  Û úß ¸ ü“ Ö®ÖÖ Ûê ú ×» Ö‹ † Ö¾ Ö¿µÖÛú Û úÖê ‡ Ô  ¤üÖê  ×Ã£ Ö×Ÿ ÖµÖÖÑ  ×» Ö×ÜÖ‹ …  

 Write any two necessary conditions for constructing a unique square. 2 
 

9. ‹Ûú ×¡Ö³Öã •ÖÖÛúÖ¸ü  ×¯ ÖÏ •´ Ö ´ Öë  ×Ûú®ÖÖ¸üÖë  Ÿ Ö£ ÖÖ ±ú» ÖÛúÖë  Û úß ÃÖÓ ÜµÖÖ ×» Ö×ÜÖ‹ …  

 Write number of edges and faces in a triangular prism. 2 
 

10. ‹Ûú ¯ ÖÖÃÖê  ÛúÖê  ±ë úÛ ú®Öê  ¯ Ö¸ü ÃÖ´ Ö Ã ÖÓ ÜµÖÖ † Ö®Öê  Ûúß ¯ ÖÏ Ö×µÖÛúŸ ÖÖ –ÖÖŸ Ö Ûúß×•Ö‹ …  

 Find the probability of getting an even number when a dice is thrown. 2 
 

11. 
9

14
 Ÿ Ö£ ÖÖ 

23

14
 Ûê ú µÖÖê ÝÖ ´ Öë  ÃÖê  

5

14
 Ÿ Ö£ ÖÖ 

7

4 −
 Ûê ú  µÖÖê ÝÖ ÛúÖê  ‘Ö™ üÖ‡ µÖê  …  

 Subtract the sum of 
5

14
 and 

7

4 −
 from the sum of 

9

14
 and 

23

14
. 4 

 

12. ×®Ö´ ®Ö ÃÖÓ ÜµÖÖ† Öë  Ûúß 3 ¾ Ö 9 ÃÖê  ×¾ Ö³ÖÖ•µÖŸ ÖÖ Ûúß •ÖÖÑ “ Ö Ûúß×•Ö‹ :  

 (i) 1839   (ii) 236637 

 Test the divisibility of following numbers by 3 and 9  

 (i) 1839   (ii) 236637 4 
 

13. ‰ú¬¾ ÖÔ ×Ÿ ÖµÖÔ Ý³µÖÖ´ ÖË  ×¾ Ö×¬Ö ÃÖê  ÝÖã ÞÖÖ Ûúß×•Ö‹ : 426 × 351 

 Multiply by Urdhwtirygbhyaam method : 426 × 351 4 

  †£Ö¾ÖÖ 

  OR 

 ×®Ö×ÜÖ» Ö´ ÖË  ÃÖæ¡Ö ÛúÖ ˆ ¯ ÖµÖÖê ÝÖ Ûú¸ü  ÝÖã ÞÖÖ Ûúß×•Ö ‹  : 22 × 23 

 Multiply by using Nikhilam formula : 22 × 23 
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14. ÃÖ¾ ÖÔ ÃÖ×´ ÖÛúÖ a2 – b2 = (a + b) (a – b) ÛúÖ ˆ ¯ ÖµÖÖê ÝÖ Û ú¸üŸ Öê  Æ ã ü‹ ÝÖã ÞÖ®Ö± ú» Ö –ÖÖŸ Ö Û úß×•Ö‹ – 

 (i) (2a + 7) (2a – 7) 

 (ii) (p2 + q2) (p2 – q2) 
 Using identity a2 – b2 = (a + b) (a – b)  find the product – 

 (i) (2a + 7) (2a – 7) 

 (ii) (p2 + q2) (p2 – q2) 4 

 

15. ×¤üµÖê  ÝÖµÖê  ÃÖ´ ÖÖ®Ÿ Ö¸ü“ ÖŸ Öã ³ÖãÔ •Ö ABCD ´ Öë  x Ÿ Ö£ ÖÖ y Û úÖ ´ ÖÖ®Ö –ÖÖ Ÿ Ö Ûúß×•Ö‹ …  

                           

 Find the values of x and y from given parallelogram ABCD.  4 

                       
 

16. ×¤üµÖê  ÝÖµÖê  ×“ Ö¡Ö ´ Öë  ABCD ‹Ûú ÃÖ´ Ö» Ö´ ²Ö“ ÖŸ Öã ³ÖãÔ •Ö Æî ü ×•ÖÃÖ´ Öë  AB || DC Ÿ Ö£ ÖÖ DA ⊥ AB Æ î ü … µÖ×¤ü AB = 13 cm, 

AD = 8 cm Ÿ Ö£ ÖÖ CD = 7 cm Æ î ü, Ÿ ÖÖê  ÃÖ´ Ö» Ö´ ²Ö“ ÖŸ Öã ³ÖãÔ •Ö ÛúÖ õÖê ¡Ö±ú» Ö –ÖÖŸ Ö Ûúß×•Ö‹ …  

 

 In given figure ABCD is a trapezium in which AB || DC and DA ⊥ AB. If AB = 13 cm,   

AD = 8 cm and CD = 7 cm, then find area of trapezium. 4 
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17. (i) ÃÖÖ¾ ÖÔ ÝÖã ÞÖ®ÖÜÖÓ ›ü «üÖ¸üÖ  ÝÖã ÞÖ®ÖÜÖÓ ›ü  Ûúß×•Ö‹ : p2qr + pq2r + pqr2 

  Factorize by common factor method : p2qr + pq2r + pqr2 

 (ii) ²ÖÆ ã ü¯ Ö¤ü 18m3 + 6m2 + 12m ´ Öë  3m ÃÖê  ³ÖÖÝÖ  ¤ üß×•Ö‹ …  

  Divide the polynomial 18m3 + 6m2 + 12m by 3m. 4 

18. ‹Ûú ¯ Ö×¸ü´ Öê µÖ ÃÖÓ ÜµÖÖ ÛúÖ Æ ü¸ü ˆ ÃÖÛê ú † Ó ¿Ö ÃÖê 5 † ×¬ÖÛú Æ î ü … µÖ×¤ü † Ó ¿Ö Ÿ Ö£ ÖÖ Æ ü¸ü ´ Öë  2 •ÖÖê ›Ì ü ×¤üµÖÖ •ÖÖµÖê Ÿ ÖÖê  Æ ü´ Öë  
1

2
 ¯ ÖÏ Ö¯ Ÿ Ö Æ üÖê Ÿ ÖÖ   

Æ î ü … ¯ Ö×¸ü´ Öê µÖ ÃÖÓ ÜµÖÖ –ÖÖŸ Ö Ûúß×•Ö‹ … 

 Denominator of a rational number exceeds its numerator by 5. If 2 is added to its numerator 

and denominator then we get 
1

2
. Find the rational number. 4 

 

19. ˆ ¯ ÖµÖã ŒŸ Ö ×¾ ÖÛú» ¯ Ö “ Öã ®ÖÛú¸ü ×¸üŒŸ Ö Ã£ ÖÖ®Ö Ûúß ¯ Öæ ÙŸ Ö Ûúß×•Ö‹ …  

 (i) ‹ê ÃÖÖ “ ÖŸ Öã ³Öã Ô •Ö ×•ÖÃÖ´ Öë  † ÖÃÖ®®Ö ³Öã •ÖÖ† Öë  Ûê ú ¤üÖê  •ÖÖê ›Ì ê ü ÃÖ´ ÖÖ®Ö ´ ÖÖ¯ Ö Ûê ú Æ üÖë , ˆ ÃÖê   __ __ __ __ ÛúÆ üŸ Öê  Æ ï ü … 

    (ÃÖ´ ÖÖ®Ÿ Ö¸ü“ ÖŸ Öã ³Öã Ô •Ö/¯ ÖŸ ÖÓ ÝÖ) 

 (ii) ¾ Öê  ²ÖÆ ã ü³Öã •Ö ×•Ö®ÖÛê ú ÃÖ³Öß ×¾ ÖÛúÞÖÔ  †³µÖÓ Ÿ Ö¸ü ´Öë  Æ üÖê Ÿ Öê  Æï ü, _ __ __ _ __ ²ÖÆ ã ü³Öã •Ö Û úÆ ü» ÖÖŸ Öê  Æ ï ü … 

    (ˆ ¢ Ö» Ö/† ¾ ÖŸÖ» Ö)  

 (iii) ²ÖÆ ã ü³Öã •Ö Ûê ú ÃÖ³Öß ²Ö×Æ üÂÛúÖê ÞÖÖë  Û úÖ  µÖÖê ÝÖ _ __ __ __ _ Æ üÖê Ÿ ÖÖ Æ î ü …  (180º/360º) 

 (iv) __ __ __ __  Ûê ú ×¾ ÖÛú ÞÖÔ  ¯ Ö¸üÃ¯ Ö ¸ü » Ö´ ²Ö¾ ÖŸ ÖË  Æ üÖê ŸÖê  Æ ï ü … (ÃÖ´ ÖÖ®Ÿ Ö¸ü“ ÖŸ Öã ³Öã Ô •Ö/ÃÖ´ Ö“ ÖŸ Öã ³ÖãÔ •Ö) 

 Fill in the blanks choosing the right option. 4 

 (i) A quadrilateral which has two pairs of equal adjacent sides is called ________. 

   (parallelogram/kite) 

 (ii) Those polygons whose all diagonals are in the interior, are called ________. 

   (convex/concave) 

 (iii) Sum of all exterior angles of a polygon is ________. (180º/360º) 

 (iv) Diagonals are perpendicular in ________. (parallelogram/rhombus) 
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20. ®Öß“ Öê  ×¤ü‹ ÝÖ‹ ¯ ÖÖ‡ Ô -“ ÖÖ™Ô ü ´ Öë  ¾ ÖÖÆ ü®Ö “ ÖÖ» ÖÛúÖë  Ûúß ×¾ Ö×³Ö®®Ö ÝÖ» Ö×Ÿ ÖµÖÖë  ÛúÖê  ¤ü¿ÖÖÔ µÖÖ ÝÖµÖÖ Æ î ü … ¯ ÖÖ‡ Ô -“ ÖÖ™Ô ü Ûúß ÃÖÆ üÖµÖŸ ÖÖ ÃÖê  

×®Ö´ ®Ö×» Ö×ÜÖŸ Ö ¯ ÖÏ¿®ÖÖë  Ûê ú ˆ ¢ Ö¸ü ¤üß ×•Ö‹ : 

                   

 (i) µÖÖŸ ÖÖµÖÖŸ Ö ×®ÖµÖ´ ÖÖë  Ûúß † ¾ ÖÆ ê ü» Ö®ÖÖ Ûú¸ü®Öê  ¯ Ö¸ü  ×ÛúŸ Ö®Öê  ¯ ÖÏ ×Ÿ Ö¿ÖŸ Ö ¤ã ü‘ÖÔ™ü®ÖÖ‹Ñ  Æ ã ü‡ Õ  ? 

 (ii) ÜÖŸ Ö¸ü®ÖÖÛú Ÿ Ö¸üßÛê ú  ÃÖê  ¾ ÖÖÆ ü®Ö “ Ö» ÖÖ®Öê  ÃÖê  ×ÛúŸ Ö®Öê  ¯ ÖÏ ×Ÿ Ö¿ÖŸ Ö ¤ã ü‘ÖÔ ™ü®ÖÖ‹Ñ  Æ ã ü‡ Õ  ? 

 (iii) ÃÖ²ÖÃÖê  •µÖÖ¤üÖ ¤ã ü‘ÖÔ ™ü®ÖÖ‹Ñ  ¾ ÖÖÆ ü®Ö “ ÖÖ» ÖÛú Ûúß × ÛúÃÖ ÝÖ» ÖŸ Öß ÃÖê  Æ üÖê Ÿ Öß Æ ï ü ? 

 (iv) ®µÖæ ®ÖŸ Ö´ Ö ¤ã ü‘ÖÔ ™ü®ÖÖ‹Ñ  ¾ ÖÖÆ ü®Ö “ ÖÖ» ÖÛú Ûúß  ×ÛúÃÖ  ÝÖ» ÖŸ Öß ÃÖê  Æ üÖê Ÿ Öß Æ ï ü ? 

 Various mistakes of automobile drivers are shown in the following pie-chart. With the help 

of pie-chart answer the following questions : 4 

 

                  
 

 (i) Percentage of accidents due to disobedience of traffic rules ?  

 (ii) Percentage of accidents due to driving dangerously ?  

 (iii) Due to which mistake of automobile driver maximum accidents take place ? 

 (iv) Due to which mistake of automobile driver minimum accidents take place ? 
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21. ®Ö¾ Ö» Ö ®Öê  ‹Ûú ¸üÖ Â™Ò üßµÖÛé úŸ Ö ²Öï Ûú  ÃÖê  ` 84,000 ÛúÖ  Šú ÞÖ 10% ¾ ÖÖÙÂÖÛú ¤ ü¸ü  ÃÖê  1
1

2
 ¾ ÖÂÖÔ  Ûê ú  ×» Ö‹ ×» ÖµÖÖ … ®Ö¾ Ö» Ö «üÖ¸üÖ  1

1

2
 ¾ ÖÂÖÔ  

¯ Ö¿“ ÖÖŸ ÖË  ³Öã ÝÖŸ ÖÖ®Ö ×ÛúµÖê  •ÖÖ®Öê  ¾ ÖÖ» Öê  Ûã ú» Ö “ ÖÛ Î ú¾ Öé ×¨ü ²µÖÖ•Ö Ûúß ÝÖ ÞÖ®ÖÖ Û úß×•Ö‹, µÖ×¤ ü ²µÖÖ•Ö † ¬ÖÔ ¾ ÖÖÙÂÖÛú ¤ê üµÖ  Æ î ü …  

 Naval borrowed ` 84,000 from a nationalized bank for 1
1

2
 years at the rate of 10% per 

annum. Compute the total compound interest payable by Naval after 1
1

2
 year, if the interest is 

compound half yearly.  6 

†£Ö¾ÖÖ 

OR 

 ¸üÖÆ ã ü» Ö ®Öê  ‹Ûú ÃÛæ ú™ ü¸ü  25% Ûúß  Æ üÖ×®Ö ÃÖê  ` 18,750 ´ Öë  ²Öê “ ÖÖ … ÃÛæ ú™ü¸ ü Û úÖ ÛÎ úµÖ ´ Öæ » µÖ –ÖÖŸ Ö Û úß×•Ö‹ …  

 Rahul sold a scooter for ` 18,750 at a loss of 25%. Find the cost price of the scooter. 

 

22. ‹Ûú ²Öê » Ö®Ö Ûúß ×¡Ö•µÖÖ 7 cm Ÿ Ö£ ÖÖ ‰Ñ ú“ ÖÖ‡ Ô  10 cm Æ î ü … ²Öê » Ö®Ö ÛúÖ ¾ ÖÛÎ ú ¯ Öé ÂšüßµÖ õÖê ¡Ö±ú» Ö Ÿ Ö£ ÖÖ † ÖµÖŸ Ö®Ö –ÖÖŸ Ö Ûúß×•Ö‹ …    

(π = 
22

7
 ÛúÖ ˆ ¯ ÖµÖÖê ÝÖ Û ú¸ë ü)  

 The radius of a cylinder is 7 cm and its height is 10 cm. Find the curved surface area and 

volume of the cylinder. (use π = 
22

7
) 6 

†£Ö¾ÖÖ 

OR 

 ×¤üµÖê  ÝÖµÖê  ÜÖê Ÿ Ö ÛúÖ õÖê ¡Ö± ú» Ö –ÖÖŸ Ö  Ûúß×•Ö‹ … ÃÖ ³Öß ´ ÖÖ¯ Ö ´ Öß™ü¸ü  ´ Öë  Æ ï ü … 
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 Find the area of the field shown below :  

 All measurements are in metres. 

                           

 

23. ‹Ûú ¾ ÖÝÖÔ  ABCD Û úß ¸ ü“ Ö®ÖÖ Ûúß×•Ö‹ ×•ÖÃÖÛúÖ ×¾ ÖÛ úÞÖÔ  BD = 5.6 cm Æ î ü  … 

 Construct a square ABCD, given that diagonal BD = 5.6 cm. 6 

 

24. ×®Ö´ ®Ö Ÿ ÖÖ×» ÖÛúÖ Ûê ú † ®Öã ÃÖÖ¸ü ÃÖ´ ÖµÖ † Öî ¸ü ÃÖÖ¬ÖÖ¸ü ÞÖ ²µÖÖ•Ö Ûê ú  ´ Ö¬µ Ö † Ö» Öê ÜÖ ÜÖà×“ Ö‹ : 

ÃÖ´ÖµÖ 1 ¾ ÖÂÖÔ 2 ¾ ÖÂÖÔ 3 ¾ ÖÂÖÔ 4 ¾ ÖÂÖÔ 

ÃÖÖ¬ÖÖ¸üÞÖ ²µÖÖ•Ö (`̀̀̀    ´Öë) 50 100 150 200 

 

 According to the following table, draw the graph between time and simple interest. 6 

Time 1 year 2 year 3 year 4 year 

Simple Interest (in `̀̀̀) 50 100 150 200 

____________ 
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